


(viii) Define ‘Combustion efficiency’.
(ix) Define ‘Degree of reaction’.

(x) What is ‘Utilization factor’
(x1) What is matchmg of turbmes and com-
‘pressors ? ;

(xii)What are pulse jet engines

(a) Dlstmgmsh betzweep ideal and real gas
turbme cycles. - | A
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(b) In a gas turbine plant  air enters the
 compressor at 1 bar and 7°C. It is compressed
to 4 bar with an’ 1sentrop1c efﬁmency of 82%.
The maximum temperature at the inlet to the
turbine is 1073 K and the isentropic effi-
ciency of turbine is 85%. The calorific value
‘ of the fuel used is 43100 kJ/kg. The heat
 losses are 15% of calorific value. Compute“‘
L et power output sfe and cycle efﬁcxency .
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